Exit Ticket F1 - Writing Algebraic Expressions

Correct Answer: ABCD

Explanation:

Diagnostic Questions

O
3a+5b
Which expressiongivesthe BB Wl iR E R R R

perimeter of the rectangle?

S it Cuaiions Correct Answer: ABCD
An _electrician charges a ion:
£30 call out chargeg plus C=20+30n EXpIanatlon.
£20 an hour.
Which formula works out [ SSSSSESEEEE———— 0 L. rsa s E R RN RN R RN AR R R R R R R R RS
the cost C for n hours
work? c=son llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
C=30+20n

Correct Answer: ABCD
Write this balancing scale as an equation EXp|anati0n:
/“" 30 \\ . /%\ ..........................................................................
3)50+h b)30=20h ..........................................................................
€)30=20+h d)30+h=20 | s
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